<op/p, > (%)

Ratio

<3 @> (rad)
o
=
(6)]

o
[N

o
i

........................................

.......................................

"

10

2 3
TP, (PCA t%obeamliné[f)

<dcot®>)

0.05]

-0.05

Ratio

=
~

0.2

0.1

|
© 1

B O
Ul [y

P
HR

o

N

=
o

[Sejeieele

OhLtq L Sta2pOot

aPe € P
areln—steps—
are, Sle
aresu—stepZ—]

COOON)

TOTO:
(Sieisiei]

[

| |1
DD DD
1

.........................................

.........................................

........................................

Ll

1

Fa—

r

o
1702

iy

-4

I I I2 3
1 TPlpg)T (PCA t%)obeamlin%)o

<dd,>(um)

Ratio

=
o

S|occe

[es]
o

40

20

i
TTTT[TTTI[TT

o
©

o
[
o®

iR

1

2 3
TPl[g)T (PCA f%)obeamlinéf)



	Contents
	Page 1


